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(m) (m) (kN/m) BB (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - ~ -|3mE#B RS -~ -
zhst - -~ - -l FRS -~ - - - zhst ~ st ~
2 100kN/mM%E{BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % ~ -|3mE#B RS -~
zhst - -~ - -l FRS -~ - - - zhst ~ st ~
3 100kN/ Mm% % - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8% % ~ -|3mE#B RS -~
zhst - -~ - -l FRS -~ - - - zhst ~ st ~
4 100kN/ Mm% % - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8% % ~ -|3mE#B RS -~
zhst - -~ - -l FRS -~ - - - zhst ~ st ~
5 100kN/ Mm% % - -~ - -|3mZEBZD -~ - - -| 100kN/m%#8% % ~ -|3mE#BR B -~
zhst - -~ - -l FRS -~ - - - zhst ~ st ~
P 100kN/ Mm% % - -~ - -|3mZEBZD -~ - - -| 100kN/mM#%#8% % ~ -|3mEi#B RS -~
zhst - -~ - -l FRS -~ - - - zhst ~ st ~
7 100kN/ Mm% % - -~ - -|3mE#BZB| 000 ~ 0.41| 4.08 20.63 | 100kN/m##BZ % ~ -|3mEFBZB| 500 ~ 500 | 4.08 20.63
ThLst 1.00 | 0.00 ~ 1.22 3.65 | ThLS | 041 ~ 1.22] 3.00 15.16 ThLst 1.00 | 6.00 ~ 56.00 3.65 | ThS | 5,00 ~ 56.00 | 3.00 15.16
P 100kN/MZ#8 2 % - -~ - -|3mEBZS -~ - - -] 100kN/m%#BZ % ~ -|3mEEBER S -~ -
ThLst 1.00 | 0.00 ~ 3.70 46.64 | ThLS | 000 ~ 370 2.23 11.27 ThLst 1.00 | 6.00 ~ b6.50 46.64 | TS | 5,00 ~ 5560 | 2.23 11.27
9 100kN/mMZ#8 2 % - -~ - -|3mEBZS -~ - - -] 100kN/mM%#BZ % ~ -|3mEER S -~ -
Ths - -~ - -l Fhus -~ - - - zhs ~ ZhLst ~
10 100kN/MZ#8 2 % - -~ - -|3mEBZS -~ - - -] 100kN/m%#BZ % ~ -|3m#EFBZS -~
Ths - -~ - -l Fhust -~ - - - Ths ~ st ~
11 100kN/mMZ#8 2 % - -~ - -|3mEBZS -~ - - -] 100kN/mM%#BZ % ~ -|3m#EFBZS -~
Ths - -~ - -l Fhus -~ - - - zhs ~ ZhLst ~
19 100kN/MZ#8 2 % - -~ - -|3mEBZS -~ - - -] 100kN/m%#BZ % ~ -|3m#EFBZS -~
Ths - -~ - -l Fhust -~ - - - Ths ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ Ths ~ Ths ~ ZzhLst ~
100kN/mMZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Ths ~ Ths ~ zhs ~ ZhLst ~
100kN/MZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhs ~ Ths ~ Ths ~ st ~




